PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL

PLOT NO. B/4, SCHOOL AREA (PT.), KALYANI, NADIA

Phone - 9433376174, 7044968111 e-mail - retre.kalyani@gmail.com

CAMPUS — Rural Connectivity Training & Research Centre (R.C.T.R.C)

No. 1263/RCTRC/2022

Notice Inviting Quotation

Date: 27.06.2022

The sealed quotations are invited by the Rural Connectivity Training And Research Centre (RCTRC) having its campus at Plot No. B/4, School Area (PT.), Kalyani, Nadia, RCTRC invites quotations from reputed Agencies for Supplying and Fixing of "Lab Foundation And External Shutter, CCTV Installation & Electrical Connection Estimate For Lab", at Rural Connectivity Training & Research Centre (RCTRC) at Kalyani, Nadia.

- Name of the Work: Supplying and Fixing of "Lab Foundation And External Shutter, CCTV Installation & Electrical Connection Estimate For Lab" at Rural Connectivity Training & Research Centre (RCTRC) at Kalyani, Nadia.
- 2. Location for work: RCTRC Campus, Plot No. B/4, School Area (Pt), beside Binoy Bhaban, Kalyani, Nadia.
- 3. Condition of Rate Quotation:
 - I. Latest return of Income Tax
 - II. PAN Card.
 - III. P. Tax Clearance Certificate.
 - IV. Valid Trade License.

SL. No.	Particulars	Date & Time
	Date and time for publish of Quotation (Online)	27.06.2022 after15.00 hours
	Quotation submission start date (Offline)	28.06.2022 after15.00 hours
	Quotation submission end date (Offline)	05.07.2022 upto15.00 hours
	Date of opening for Technical Bid (Offline)	05.07.2022 after 16.00 hours
	Date of opening for Financial Bid (Offline)	To be Notified letter.

Authority reserves the right to accept or reject any quotation without assigning any reason thereof.

Manager (Training)
RCTRC Kalyani, Nadia &
Superintending Engineer
RRNMU, Bardhhaman Circle

No. 1263/1(10)/RCTRC/2021

Date:27.06.2022

Copy forwarded for kind information and necessary action to:

- The Additional Secy. to the Govt. of West Bengal & ACEO, WBSRDA, Kolkata-700106.
- Sri A.K. Mandal, Chief Engineer, P&RD Dept., WBSRDA Ko1-700106
- The Superintending Engineer & SQC, WBSRDA, Kolkata-700106
- The Director, RCTRC & Superintending Engineer, WBSRDA (HQ).
- 5) The Executive Officer, Nadia Zilla Parishad
- 6) The Additional Executive Officer, Nadia Zilla Parishad
- 7) The Financial Controller, WBSRDA, Kolkata-700106
- 8) The Executive Engineer, WBSRDA, Nadia Division
- 9) The Finance Officer, WBSRDA, Nadia Division
- 10) The District Information Analyst, Nadia Zilla Parishad,

Manager (Training) RCTRC Kalyani, Nadia & Superintending Engineer

PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL PLOT NO. B/4, SCHOOL AREA (PT.), KALYANI, NADIA

Phone - 9433376174, 7044968111 e-mail - retrc.kalyani@gmail.com

RRNMU, Bardhhaman Circle

e-Procurement Notice

The Manager (Training), Rural Connectivity Training and Research Centre, Kalyani, Nadia, on behalf of West Bengal State Rural Development Agency invites the Consolidated Rate Quotations in Office tendering system for Supplying and Fixing of "Lab Foundation And External Shutter, CCTV Installation & Electrical Connection Estimate For Lab" work at Rural Connectivity Training Research Centre (RCTRC) building at Kalyani, beside Binoy Bhaban, Nadia, from the eligible agencies.

Availability of Quotation Documents and Mode of Submission: The Quotation document is available in the website of Nadia Zilla Parishad/Panchayat & Rural Development Department and It should be submitted Offline at the office of RCTRC. The bidders are required to submit (a)(i) original documents such as Quotation Security, Cost of Quotation document (exempted) and Affidavit regarding correctness of information furnished with Quotation document to the The Manager (Training), RCTRC, Kalyani, Nadia, B/4 School Area (PT), PIN -741235 on a date as specified in Section I, either by registered post or by hand, failing which the Quotations shall be declared non-responsive.

Last Date/Time for receipt of Quotations through Offline: 05.07.2022 (dd/mm/yyyy) up to 15:00 Hours (time).

Manager (Training) RCTRC Kalyani, Nadia & Superintending Engineer RRNMU, Bardhhaman Circle

PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL PLOT NO. B/4, SCHOOL AREA (PT.), KALYANI, NADIA

Phone – 9433376174, 7044968111 e-mail <u>– retre.kalyani@gmail.com</u>

Standard Bidding Document

- The Manager (Training), Rural Connectivity Training and Research Centre (RCTRC), Kalyani, Nadia on behalf of West Bengal State Rural Development Agency (WBSRDA) invites the item rate Quotations, in electronic tendering system, for supplying Miscellaneous Items at Rural Connectivity Training Research Centre (RCTRC) building at Kalyani beside Binoy Bhaban, Nadia.
- Date of release of Invitation for Quotations through offline: 27.06.2022(dd/mm/yyyy).
- 3. Cost of Quotation Form: Nil
- Defect liability period is 1 (one) year after completion of the work. 4.
- Last Date/ Time for receipt of Quotations through offline: 05.07.2022(dd/mm/yyyy) up-to 15: 00 Hours 5. (time)
- 6. The site for the work is available.
- Only Offline submission of Quotations is permitted, therefore; Quotations must be submitted Offline at the office of RCTRC. The technical qualification part of the Quotations will be opened Offline at 16:00 Hours (time) on 05.07.2022 (date) by the authorized officers. If the office happens to be closed on the date of opening of the Quotations as specified, the Quotations will be opened Offline on the next working day at the same time.
- The Quotations for the work shall remain valid for acceptance for a period not less than ninety days after 8. the Opening of Financial Bid.
- Though the lowest overall quoted rate will be the criteria for selection, but the acceptance of the lowest Quotation is not obligatory to the undersigned. If the lowest Quotation, in the opening, of the undersigned does not appear to be satisfactory, the undersigned reserves the right of holding fresh Quotation, and so on.
- The agreement is valid for only one (1) year from the date of award of the work. 10.
- The Successful bidder in no case will enjoy the right to subcontract during the period of contract for l yr. 11.
- The undersigned reserves the right to reject any or all of the Quotations without assigning any reason what 12. so ever.
- Other details can be seen in the quotation documents. The Employer shall not be held liable for any delays 13. due to system failure beyond its control.

Manager (Training) RCTRC Kalyani, Nadia & Superintending Engineer RRNMU, Bardhhaman Circle

PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL PLOT NO. B/4, SCHOOL AREA (Pt.), KALYANI, NADIA

Phone - 9433376174, 7044968111 e-mail - retrc.kalyani@gmail.com

DETAILED AND COST ESTIMATE FOR THE WORK OF "LAB FOUNDATION AND EXTERNAL SHUTTER OF RCTRC BULLDING" RCTRC, KALYANI, NADIA.	An	nexure	-I: Performa of Rate Quotati	on.								
Page Description of tention work Chin No No No No No No No N				E WOR	K OF"	LAB FO	UNDA	TION AN	ND EXTI	ERNAI	SHUTTER	OF RCTRC
P-10 It-1 concrete plain or reinforced, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 m. a ling ground floor including roof. CUM 1 10.00 1.00 0.60 6.00 447.00 2682.00 1417.00 2682.00 2 2 2 2 2 2 2 2 2		no & Item	Description of Item of Work	Unit	No	L(m)	B(m)	H(m)	Qty			Market Market State (190
2	1		masonry excepting cement concrete plain or reinforced, stacking serviceable materials at site and removing rubbish as directed within a lead of 75									
Dismantling all types of plain cement concrete works, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 m. In ground floor including roof.oof. (a) Above 150 mm. thick. P-11				CUM	1	10.00	1.00	0.60	6.00		447.00	2682.00
Dismantling artificial stone R-11 Roofing upto 50 mm. thick by Carefully chiselling without damaging the base and removing rubbish as directed within a lead of 75 m.a) In ground floor including roof. Removal of rubbish,earth etc. from the working site and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the site in all respect as per direction of Engineer in charge. En	2	244,5547	Dismantling all types of plain cement concrete works, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 m. In ground floor including roof.oof. (a) Above 150 mm. thick.		1							
Removal of rubbish,earth etc. from the working site and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the site in all respect as per direction of Engineer in charge. P 24	3	100	flooring upto 50 mm. thick by carefully chiselling without damaging the base and removing rubbish as directed within a lead of 75 m.a) In	SQM	1	12.00	1.50	0.05	0.90		50.00	45.00
5 P 24 Controlle Cement Concrete M20		1	Removal of rubbish,earth etc. from the working site and disposal of the same beyond the compound, in conformity with the Municipal / Corporation Rules for such disposal, loading into truck and cleaning the site in all respect as per direction of			10.00	J		,		166.00	1660.00
No 5 (i) Without approved concrete pump. Ctm Base CUM 1 4.80 0.64 0.45 1.38	5	P 24	Controlle Cement Concrete								5881.34	13115.39
Dump. Ctm Base CUM 1 4.80 0.64 0.45 1.38											-	
Compation factor machine base 1 1.00 0.50 0.50 0.25			pump.	CLIM	1	180	0.64	0.45	1 38	-	-	
Description Tates Description Descri			75 C 100 A 100 C 100 C	COM			240000	, 03000 CC			-	
Total = 2.23 6 P Neat cement punning about 1.5mm thick in wall, dado, & It- window sill, floor etc. NOTE:Cement 0.152 cu.m per100 sq.m.			base					0.00	0.60			
6 P Neat cement punning about 192 1.5mm thick in wall, dado, & It- 15 NOTE:Cement 0.152 cu.m per100 sq.m.			1.0.000.11.W1 37.25.32.44		4	3.00	1.30	0.08	100 000 0000			
	6	192 & It-	Neat cement punning about 1.5mm thick in wall, dado, window sill, floor etc. NOTE:Cement 0.152 cu.m									
			per100 sq.m.	SQM	1.00	4.80	0.64		3.07		34.00	291.38

PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL

PLOT NO. B/4, SCHOOL AREA (PT.), KALYANI, NADIA

Phone – 9433376174, 7044968111 e-mail <u>– retrc.kalyani@gmail.com</u>

		Filone – 94333	770174, 70	7447061	i i C-man	- reuc.i	varyani w	gman.con	1		
				2.00	4.80	0.30		2.88			
			1	2.00	0.64	0.30		0.38			
			1	1.00	1.50	0.64	1	0.96			
			1	2.00	1.50	0.30		0.90			
			1	2.00	0.64	0.30		0.38			
		Total =		2.00	0.04	0.50	L				
7	D					-		8.57			
7	P 189 & No 1	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).[Excluding cost of chipping over concrete surface] (ii) With 1:4 cement mortar	SQM								
		(3rd corrigendum)	SQIVI								
	į.	(b) 15 mm thick plaster	1							161.00	1379.77
		Foundation plaster	-			-	Total	0.57		00.101	1379.77
		, symmetry preser					Total	8.57			
	P-43 It-40	concrete work in all sorts of structures including distribution bars, stirrups, binders etc initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every intersection, complete as per drawing and direction. a) For works in foundation									
		and upto roof of ground									
		floor/upto 4 m									
		(i) Tor steel/Mild Steel I. SAIL/ TATA/RINL	M.T.					0.20	5	5281.03	11056.21
9	P 42 & No 36	Hire and labour charges for shuttering with centering and necessary staging upto 4 m using approved stout props and thick hard wood planks of approved thickness with required bracing for concrete slabs, beams and columns, lintels curved or straight including fitting, fixing and striking out after completion of works (upto roof of ground floor).									
		a) 25 mm to 30 mm thick wooden shuttering as per decision & direction of							3	35.00	1520.90

PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL

PLOT NO. B/4, SCHOOL AREA (PT.), KALYANI, NADIA Phone – 9433376174, 7044968111 e-mail – retre.kalyani@gmail.com

		Engineer-In-Charge.								T
		Foundation shuttering	SQM	2.00	4.80	0.30	-	2.88		
		Lab Foundation		2.00	0.64	0.30	-	0.38		
				2.00	1.50	0.30		0.90		
			1	2.00	0.64	0.30	 	0.38		
		Total =						4.54		
12	P- 106 It-19 (B)	(b) Supplying fitting and fixing steel rolling grills link type, shutter with 18 B.G. of approved type steel to the section 75mm wide, fitted with coil wire spring to necessiate the fitting of required Nos. of C.I. Pulleys on heavy type solid drawn seamless steel tube complete with locking arrangements both inside and outside specially builtup side guide channels including providing a hood for the steel rolling shutter in the room, painting two coats of approved aluminium paint over a coat of red lead primer complete.								
		3rd corrigendum	SQM		5.35		4.50	24.08	4282.00	201382.46
					5.10		4.50	22.95		
							Total	47.03		
	"A"=							-		241635.10
				Ad	d 12% (GST (SG	ST@6%	+CGST@6%	o) on "A"=	28996.21
	"B"=									270631.32
					Add	1% Lab	our well	fare cess on '	B"=	2706.31
	TO	ΓAL=								273337.63

PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL PLOT NO. B/4, SCHOOL AREA (PT.), KALYANI, NADIA

Phone - 9433376174, 7044968111 e-mail - retrc.kalyani@gmail.com

SI No.	Description	Unit	Quantity	Rate	Amount
1	DVR 32 Channel (Dahua)	No	1	29375.00	29375.00
2	Camera Dome 2 mega pixel (Dahua)	NOS	10	2187.00	21870.00
3	Camera Bullet 2 mega pixel (Dahua)	NOS	6	2250.00	13500.00
4	Camera Bullet 2.4 mega pixel (Dahua)	NOS	1	4562.00	4562.00
5	Cable (CP Plus)	М	810	27.00	21870.00
6	PVC box 4x6	NOS	14	62.00	868.00
7	BNC	NOS	24	62.00	1488.00
8	DC Power	NOS	12	43.00	516.00
9	Hard Disk Drive 4 tb SRVC (Toshiba)	No	1	6500.00	6500.00
10	PVC Pipe	NOS	25	67.00	1675.00
11	Rack 9u (Dlink)	No	1.	6500.00	6500.00
12	Monitor 24 inch (Samsung)	No	1	12875.00	12875.00
13	Installation Charges	No	1	7500.00	7500.00
				TOTAL =	129099.00

PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL PLOT NO. B/4, SCHOOL AREA (PT.), KALYANI, NADIA

Phone - 9433376174, 7044968111 e-mail - rctrc.kalyani@gmail.com

SI No	Item	Quantity	Rate	Amount
1	Supplying and fixing double door Horizontal TPN MCB Distribution board with IP-42/43 protection, concealed in wall after cutting the wall & mending good the damages to original finish incl. Inter connection with suitable size of copper wire and neutral link & provision for earthing attachment (Page No-D-10, Item No-14 2017)			
	8 way Enclosure (607717) Legrand	1	4277.88	4277.88
	Supplying and fixing 240/415 V MCB of Breaking capacity 10kA & C characteristics on din rail of existing DBs and necessary connection (Page No-D-6,Item No-7 2017)			
	6-32 A Legrand	25	193.80	4845.00
	Distribution wiring in 1.1 KV single core stranded 'FR' PVC insulated & unsheathed copper wire (Brand approved by EIC) in 20mm size PVC rigid conduit 'FR' (Precision make) incl. necy. fittings as required (Page No-E-14,Item No-1(a) 2017)			
	(i) 2 x 36/0.3 (2.5 sqmm) + 1 x 22/0.3 (1.5 sqmm) ECC	300	121.38	36414.00
	(ii) 2 x 56/0.3 (4 sqmm) + 1 x 36/0.3 (2.5 sqmm) ECC	250	151.98	37995.00
	Distribution wiring in 1.1 KV single core stranded 'FR' PVC insulated & unsheathed copper wire (Brand approved by EIC) in 25mm size PVC rigid conduit 'FR' (Precision make) incl. necy. fittings as required (Page No-E-14,Item No-1(b) 2017)			
	(i) 3 x 56/0.3 (4 sqmm) + 2 x 36/0.3 (2.5 sqmm) ECC	50	223.38	11169.00
	Supply & Fixing 240 V 16/20 A Piano key type switch (Brand approved by EIC) on existing sheet metal switch board having bakelite/perspex top cover by screws after making housing for switch by cutting bakelite/perspex cover and making necessary connections as required(Page No-E-5,Item No-14(b) 2017)	60	74.46	4467.60
	Supply & Fixing 240 V, 20 A plug socket (Brand approved by EIC), without plug top and switch, on existing sheet metal switch board with bakelite/perspex top cover by screws after making housing for combined plug switch by cutting bakelite/perspex top cover and making necy. connections with PVC wire and earth continuity wire etc. (Page No-E-5, Item No-15(b) 2017)	60	74.46	4467.60
	Supply & Fixing 240 V,25 A, 3 pin Modular type plug top with indicator (Brand approved by EIC) & necy. Connections.(Page No-E-17,Item No-5(b) 2017)	60	131.58	7894.80
	Supplying & Fixing GI Modular Switch Board of the following sizes complete with top cover plate flushed in wall for housing the board after cutting the brick wall incl. making earthing attachment, painting and mending good damages to building works (Page No-E-17, Item No-2 2017)			

PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL

PLOT No. B/4, SCHOOL AREA (Pt.), KALYANI, NADIA Phone – 9433376174, 7044968111 e-mail <u>- retre.kalyani@gmail.com</u>

	(a) 2 Module	60	175.44	10526.40		
9	Control Industrial Plug and Socket Set 3 Phase 5 Pin 32 Ampere 2 Pairs (Non Schedule Items)	3	1874.00	5622.00		
A =		I		127679.28		
Add	CGST @6% on A			7660.76		
Add	Add SGST @6% on A					
B =				143000.79		
Add	Cess @ 1% on B			1430.01		
TOT	AL AMOUNT =	-		144430.80		
Rou	nd off Rs:			144431.00		

PANCHAYAT & RURAL DEVELOPMENT DEPARTMENT GOVT. OF WEST BENGAL PLOT NO. B/4, SCHOOL AREA (PT.), KALYANI, NADIA

Phone – 9433376174, 7044968111 e-mail <u>– retrc.kalyani@gmail.com</u>

UNDERTAKING & ACCEPTANCE LETTER BY THE AGENCY

I/We have carefully gone through the various terms and conditions listed in the Quotation comprising (Technical & Financial Bid) for Supplying and Fixing of "Lab Foundation And External Shutter, CCTV Installation & Electrical Connection Estimate For Lab" at RCTRC -Centre Name. I/We agree to all these conditions and offer to provide Miscellaneous Items at RCTRC. I/We are making this offer after carefully reading the conditions and understanding the same without any kind of pressure or influence from any source whatsoever. I/We have inspected the institute premises (RCTRC) and have acquainted ourselves with the tasks required to be carried out, before making this offer. I/We hereby sign this undertaking in token of our acceptance of various conditions listed above.

Place:	 	
Date:		
Address:		
44		,==
Mob:		
Email ID:		